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INSTRUCTIONS TO CANDIDATES

Section A (30 marks) Time: 45 minutes
1. Answer all the questions in this section.
2, Calculators may nof be used in this section.
3. All working must be clearly shown. Omission of essential working will result in loss of marks.
4. The marks for each question is shown in brackets [ ] at the end of each question.
1 Evaluate each of the following, giving your answer as a fraction in the lowest terms.
1 3
@ z+7
i 1Y, .2
®) (35_ 1§J +22
Answer (@) vovvvvvvvenivivsesrinierinnnrennen [11
2 Calculate the exact values of "
(a) 2592 +1.2,
(b) 1.6°+ 1.6 x 04,
ARSWer () vovivvnenncnninnnsnrinnenenen 1]
(B) coreerenniennrirenrecsnsnnerenenns [1]
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i 3 {(a) Express 0.0135 as a fraction in its lowest terms.

(b) Express g as a decimal, giving your answer correct to 3 decimal places.

| ' (c¢) Express % as a recurring decimal,

Answer (a) ......... rresrarerenns ereeennnns - [ﬂ

2] SR e R [1]
(<3 . Vv, [i1-

MU LR IRy AR

4 (a) Simplify g—g—;—g, expressing your answer as a fraction in its lowest terms,

(b) Find the decimal number which is exactly halfway between 0.57 and 0.73.

(B) oo cereeeeeen 1

Answer (a) .ooevnn...
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5  Evaluate each of the following, giving your answer as a fraction in its lowest terms.

3 6. .3

7 3 3 1y.:2

ARSWer (@) .cvecovvrereeenneennanns [2]

6  Given that 276 x 63 = 17 388, find the exact values of

(a) 2.76 x 630,
(b) 173.88 + 0.63.

AnSWer (@) .ocoeevnnecenvnninininesnnienns [1]

Test 4: Fractions and Decimals
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7 (a) Draw a number line and use dots to represent that following numbers,
4 3 '
13, 1.89, 1.95, IZ

(b) Find the number of times % is needed to make the mathematical statement below true.

1,11, T

3E3 g g 81

Answer {a) 2]
ANSWEr (D) oo [2]

) 2
8 (a) Calculate (0'(31) 2; 40, eXpressing your answer as a fraction in its lowest terms.

(b) The mass of a pail which was 0.8 filled with sand was 5.95 kg. If the mass of the empty pail
was 1.15 kg, find the mass of the pail which is completely filled with sand.

Answer (a)
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9 Mr Lim took his wife and children to an amusement park. Each aduit tfcket cost $9.60 while
each child ticket cost half as much. If Mr Lim paid $43.20 altogether, how many children does

he have?

ARSWEE  covviivvisiiseissinssnains children [3]

10 A sum of money was divided among four boys. Tom received % of the money and Jack received it

% of the money. Peter received % of the remainder while Bob received the rest. If Bob received

$200, how much was the original sum of money?

Answer $ .o sevenee [4]
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INSTRUCTIONS TO CANDIDATES
== 2ADNG 10 CANDIDATES

Section B (30 marks) ' : Time: 45 minutes

1. Answer all the questions in this section.

2. Caleulators may be used in this section. -

3. Al working must be clearly shown. Omission of essential working will result in loss of marks,
4. The marks for each question is shown in brackets [ ]atthe end of each question.

11 Use a calculator to evaluate each of the following, giving your answer correct (o 2 decimal
places.

3L _ ol
(a) 7.713 + 1; E
2 3

(b) 27.2* + /289595 + 43169 x 1872

© 3/8.093 X 16755  29.99?
7.017 19.99

ANSWEr () coovoumrvenvemessrooeoo [13
(2] I {1
o) S f1]

12 (a) Arrange the following numbers in descending order.

0.67, :;’:- 0.671, 0.67, 0.6>

(b) Find, in its simplest form, the fraction that ig greater than —1%— but less than %

(© Evaluate (1 + %J(l + %)(1 + %) X o X (1 + %f)
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13 (a) Lindabought 7 apples at $0.25 each, 2% kg of chicken at $6.40 per kg and 6.5 kg of prawns

at $8.90 per é« kg. How much did she spend altogether?
1
6
cost $5.95 per car. He used the remainder of the money to buy 5 miniature trains at $16.37
each and some action figures which were sold in packets of 3 figures at $15.80 per packet.
(i) How much money did Mr Tan bring to the toy shop?

(if) Find the number of action figures he bought.

(b) Mr Tan went to the toy shop. He spent = of his money to buy 7 model racing cars which

CARSWEF (A} F oo 2]
(B)(DF e [2]
411 T action figures [3]
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14 (a) Philip bought a box of paper clips.

= of them were silver and the rest of them were black.

He gave away ) L of the silver clips and = of the black clips. He has 30 paper clips left, How

many paper chps were there in the box?

(b) Betty received a sum of money from her mother, She spent = of it on a dress, 1 ofitona
pair of shoes and $55 of it on a bag. If she still had $29 Ieft how much money did she
receive?

Answer (@) .eveenran.. ... paper clips {3]
(B)$.......... ferenrre b rane [3]
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15 (a) 21 of a container was filled with a chemical solution. After $8 1.90 of the solution was added

to the container, it became § full. If the chemical solution cost $15.75 per litre, flnd the
capamty of the container.

(b) Mabel bought a packet of flour. She used l of the flour to bake some cookies and l of the

remainder to bake a cake. If she has used 525 6 g of flour so far, how much flour does she
have lefi?

(¢) 1 kg of chocolates and 1 kg of candies cost $56.50 altogether. John bought 2 kg of
chocolates and 5 kg of candies for $172.10. How much did 2 kg of chocolates cost?

Answer (a} ..o verrerreersrressennrennnes b 2]
(D) vrerererernrremisrereniecioenns £ [3]
(C)F e 3]
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(d) No, of connectors needed to make Fig. 100
= 100* + 6(100) + 5 '
=10000+600+5
= 10 605

(b) 1.6+ 1.6 x04
=16 [1.6 + 0.4]
= 1.6 X (2)
=32

® (3%- 1%) +22

135

3. () 00135 = =

4 decimal 4 zeros

places
® E=6+7
2 =6+

= (0,857
{correct to 3 d.p.)

2592  2.592x 10 2,16

2 @ 12 12x10 12 ) 25.92
_ 2592 24
T 19

=216 12

72

T2

0

Extra digit
is smaller
0.8571 than 5.
7 ) 6.0000
56
40
a5

0.318181
22 ) 7.000000
66
40
22
180
176
40
22
180
176

Worked Solutions to Test Papers
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®) ©57+0.73)+2
g 13

§ 5. (@) %x

- = |36
; 121
e u
P 51 |
_'._?ﬁ,'(ﬂ_}f
KRR N eISE1]
0] 5% ¢34 (e il
sk : 3
’:;P’)I =
ey
ﬁ!a il
2 s F
%G
54
. = (153
1 = lH(E-{u i
! 65~ (13 + 63
it 7 1.3
! —6§‘~7§'X§
|
‘ 7 A5 3
=0 — X —
65-=3 2
=gl_4l
_68 42
=5l _a8
"68 43
=3
_28
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6. 276 % 63 = 17 388 (Given)
(a} 2,76 x 630
]
= g X3x1g
.. 276 x 63
T

17 388
10
1738.8

I

(b) 276 x 63 = 17 388 (Given)

17 388
T =276
173.88 + 0.63
_ 17388 63
100 100
_ 17388 s60
A0 63
. 17388
63
=276
4 3
7. (@ IE’ 1.89, 1.95, IZ
2

3 4
13 1 189 195
S S S AN S
1.7 1.8 1.9 2
1 1 1 1
by =+ = &+ - 5, + 2
(®) 3 3 3 3

- it will need 6 times of % to make the

mathermatical statement true.
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= 03x03 x40 x100

12 x12 % 100

1 Lo A
A x 8 x AT

~Z K
-~ 1:%2

I

3
2

2

b | b

(b) Mass of sand when pail is 0.8 full
=35.95-1.15
=4.8kg
Mass of sand when pail is full
1
= '(:fg x 4.8
=6kg
" Mass of pail which is full
=6+ 115
715 kg

9. Cost of tickets for 2 adults

=2 % $9.60
= $19.20
Total cost of tickets for children
= $43.20 - $19.20
= $24
Cost of ticket for each child
= $9.60 +2
= $4.80
No, of children
24
4.80
240
Ty
=5

10. Fraction of money received by Tom and Jack
11
T3q

4+3

12
L
12
Fraction of remaining money
7

=1- L

12

5

iz

Bob received (1 -—= %J of the remaining money.

on | -

Worked Solutions to Test Papers

11.

12,

—;; of the sum = $200

Original sum of money
=3 % $200
= $600

T e
% Section lij/,

3l _ql
(@ 7.713 + I;*Tg-
2 3

= 8.044...

== 8.04 (comect to 2 d.p.)

(b) 27.2%+ 289595 + 33169 x 18.7°
= 705.155...
= 705,16 (correct to 2 d.p.)

© i’ 8093 x 16755  20.992

7.017 19.99
= 10 .683...
= 10.68 (correct to 2 d.p.)

@ 067, L, o6, oé, of
0.67717... T 0.6767 ... I
0.6666 ... 0.36
~ the numbers arranged in descending order are:
0.67, 0.67, 0.671, %, 0.62
(b) Fraction required
(348,
- (17 * 17J 2
_u
7]
240
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13. (@)

Total amount spent

= (7 X $0.25) + ( 2%- x $6.40) +(6.5% $8.90 X 2)
= $132.65

(1) (i) Cost of 7 racing cars
=7 X §5.95

= $41.65
é of money = $41.65

Total amount= 6 x $41.65
= $249.90

<. Mr Tan brought $249.98 to the toy shop,
(ii) Remainder of money
= $249.90 - $41.65
= $208.25
Cost of 5 trains
=5 % $16,37
= $81.85
Cost of action figures
= $208.25 — $81.85
=$126.40
No. of packets of action figures
_ $12640
"~ '$1580
=8
No. of action figures
=3x8=24

14, (a) Fraction of silver clips given away

1,1t
2797 %
Fraction of black clips
1 3
=t-7=
Fraction of black clips given away
1 3 1
37Ty
Fraction of clips left
_ 11
I Y
_ 5
T8

241

(v)

15. (a)

®

S

% of total clips = 30

of total clips = ? =0

8
- total clips in box =8 x 6
=48
1 1_7
1-3-5= 15
% of her money = $55 + $29
= $84
! = 884
5 of her money = - = $12
& amount of money received = 15 x $12
=$180

Praction of additional solution
=5_2

6 5
=13

30
No. of litres of additional sclution
_ $8L90
T $1575
=52

.13 N
“ 39 of container = 5.2/

%- of container =52+ 13 =041
Capacity of container =30 x 0.4 =12 {

Fraction of flour used to bake a cake

(o)

0~ enlm v
B

Fraction of flour used so far

—
—

{
|

I

[-- 3 ETVIN N

Fraction of the flour left
3

8

—

]

osln

of flour = 525.6 g
of flour = 5256 + 3= 1752 ¢

of flour = 5 % 1752 =876 ¢

cofth eol— eolw
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(c) 1 kg of chocolates
+ 1 kg of candies == $56.50 (Given)
2 kg of chocolates
+ 2 kg of candies =2 x $56.50
=$113
2 kg of chocolates
"+ 3 kg of candies = $172.10 (Given)
 cost of 3 kg of candies
=$172,10- %113
© =$359.10
Cost of 1 kg of candies

. $59.10

= =

=$19.70

< cost of 1 kg of chocolates
= $56.50 — $19.70

= $36.80

1. (@) -1.2 x(-0.5)
=12x0.5
= 0.6

(b} 69.6 + (-0.04)
=-{69.6 + 0.04)

-{22)

2. @ -8-(1 ~21)
=-8 -~ (-10)
=-8+ 10
=2

® {-12-[17 + (-8)]} + 3

={-12-9] +3
=-21+3
=7

Worked Solutions to Test Papers

3 2

3@ CR)XEIN+9IX (1T

= [(-12) + 9 x

(®) (3 +(-5)
=-27+25
=-2

27 (-1)

=42>< [—-2{]

S (=3 + (5 = (2 x

4 @ [3-(-12) X (~4)] = (-15)
= [3 - 48] + (-15)
= (-45) + (-15)
=45+ 15
=3
[(-2) % (-25)] + (—10)
= 50 + (-10)
=—(50+ 10)

S B~ 12 X 0]+ (-15) 3] [(<2) % (-25)] +
(=10}

6 X (=5) + {(-10)2
35 + (-5)
—30 + 100
=7
0

®

=-10
(-2)° x (-3)?
(-6} x (-2)
_ 8x%09
T
It
T2
=-6

6 X (-5) + (-10)? — (2)% x (-3)?
35 + (5) 6) x (-2)
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